KonTpoJsbHast padora no anreope Ne 6.

8 kiacc.

| BapuaHT.

2 BapuaHT.

1. PemmTe HEpaBEHCTBO:

a) 9x — 11> 5(2x — 3);
B) 3x2 —4x+7 > 0.

0) x*+7x—-82=0.

2. PemmmTh METOOOM MHTEPBAIIOB HEPABEHCTBO:

5—-x
) x(x—5)x+3)>0. 6 > 0;
Jx(-5)x+3)>0,  6) =—
3. IIpu KakuX 3HAYEHUSX X UMEET CMBICI
BBIPAXKEHUE
Jx? =3x—40 ?

4. PemmuTh HEPABEHCTRBO:

a) x’—64x <0,
0) *(3x—1)—x*+16 < x{2—x)—x(11-2x)

Pemure HepaBeHCTBO:

a) 22x +5<3(6x—1); 6) x*-11x+24<0.
B) 2x* =5x+6 <0,

PGHH/ITI) MCTOOOM I/IHTCpBaHOB
HCPABCHCTBO:
2) x(c—(x +4)<0, 6)
- x+3
HpI/I KAaKHUX 3HAYCHUAX X UMCCT
CMBICJI BBIpa)KeHI/Ie

> 0;

Jx? +4x—457?
Pemuts HEpaBEHCTBO:

a) x> —49x > 0.
6) 3xlx+2)—(4—x)(4+x) > 5(x> +1)-4(x~-1)




